C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 2) 3)
6800 7837 41323 1
2
3
4,
5.
4) 5) 6)
8|963 4(185 6/796 °
7.
8.
0.
10.
7) 8) 9
5112 9[766 8lg12 -
12.
10) 11) 12)
6663 2577 3691
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 133r2 2 119r4 3) 80r3
6’870 7@ 4@ . 133r2
go %3 %2 2 11914
18 7 32 3 80r3
20 67 03
18 63 0 4 _ 12013
2 4 3 s 4611
49 12013 5) 4611 6  132r4
8% 4% 6% 6. 132r4
8 0 6 . 2212
16 18 19
16 16 18 8. 85r1
03 25 16
0 04 19 o 101r4
3 1 4 0 110r3
7) 2212 8) 85r1 9 101r4 288 11
5@ 9% 8@ 11.
0 0 8 »  230r1
11 76 01
10 72 0
12 46 12
10 45 8
2 1 4
100 11013 1) 28811 12)  230r1
6/663 2[577 3691
6 4 6
06 17 09
6 16 9
03 17 01
0 16 0
3 1 1
[ Math ]www.CommonCoreSheets.com 10 1111102 %82 %3 BSOS T




